11102 T - KATREMZRKTEEME
( 2T 4k 24t )

BESE—T-#00HTE2T-4£86
S'HBWR|S|2|S', IBSB—1BAT - £
’%?%S:{al:az’ """ )ak}i_‘E*T-
EE, k23 R a1 <a.<a;<-~<a
o A5 a5 ay FEHA RSB, Al S =SU {a,+1}
BAKB—T-%4,M|S' =S|+ 1 ,
BFE, fa.Hla BHEBEE;FE, HHA
i=3,4,, k=1, a#la+ HREH
B, Ha Ha, RUEB, Far+2<a,
AIS'=(S~{aHDU{as+1, &+ 2} B
REB—T-%&,M|S'=[S[+1, R
FIE 0 a, R e, 2 MRS RE—BEE
Fa<lin—1,80lea+2<n,¥Xa<a



BERE 61

<ay,thas>a+2 ;fHa +a:>a, ®
G+ a>a+a+2>a+2 818 =(S
~{aDU{a+1,a+2}’R—-T-%
S LIS =S|+ 1, KEFE . Ka=n
-1, B mERS
(DFTE S 2B MmEH ; BlS ={a , a
+1,a+ 2, ,a+ g}, NomEHEY:
@FEEa+qg=n—1,02a+1>n—1
> 2a+ 12n;{82a+1>n7RAE,
RS = SU{n} RB—T-£&, T
[S"|=]SI+1, HEFE . #2a + 1
=n, REn=2m+ 1 BEH,Me=

n—1
m=—
2
n—1 n+1
' = ’ sy BT l}
& S=1 o2 2 '
n+ 1

OEEe+g=n, f2a+1>n,BHA

BifFE :

@ n=2mBBHE, ll2e+1>n=
2¢>2m => a>m ; Bazm+ 1
RO, BRI2a—122m+ 1>n
> S§'=SU{a— 1} FRB—T-%4
IS =|Sl+1, hBFE . e =

n
m=—,
2
i n n
Jill S_={?’E+l’ ......... ,n}
n -
i ls|:_2—+1 e o SRS

OEn=2m+1BHEHK,H2a+1>n
S a>m D azm+1;{Ha>m
+ 278 RE , BHl2e —122m+ 3
>n 2> 5=SU{ae—1}FE—T-
£45,M S =IS+1,BFE,

n+1
2

fa=m+1=

o



62 WMEBHE +—%-3 RI6% 6 f

i s:{"zl,_”:ﬂ.u...,n} | 4O @ @ OfFfikE
| @fm=(=)+1
. n+1 2 :
il [SI: ........................... @ : .
2 | O n 2 BIE , AE—2 BA T~ 44 :
$@‘®&@ﬂﬂﬁﬁ%mZT,lﬂ:( S:{;’%+I,w“ﬂn},§nﬁ
n ;
i R (125 ) HEBBAT- K4 :
n—1 n-+2
Sl“{ 2 ; z y e N 1}
(2“1@022&’3%%"—%& ’ Eﬂ a=a,+ 2 ’ n+ 1 n4+ 3
ﬁ’:‘%ﬂ’%82{a,a+2,a+3’ --------- , SZ:{ 2 ’ 2 )>n}
a+q } BETEE NG : R
@%a+q=n—l,ﬂ2q+2>n—l 8= { 2 3 yres )
D 2e>n-3;{H2a>n— 2RAH |
' ,.Z_.<Eﬂ24+l>n—l > S':SU{ ﬁlj'?é’n:']ﬁ’ 81:{3,4’5’6}’32
e+ LHAR—T-%%&, M|S'|=]S|  ={4,5,6,7}, S ={3,5,6,7}
+1, WRFE i 2e=n—2, PR
ﬂzZmﬁﬁﬁma=m—1=”;20
e n—z n+2 cseses _—
S ={ S el ,n—1}

,{B.ISI=%,&T\FIQEEEXZT-%

B o

WEa+qg=n,[2e+2>n > 2a
>n—2;{82a>n— 1 REjE, BH
2+1>n > 8'=SU{a+1} %5
T-%&,MIS'|=[S|+1, LBFE
o2a=n—1 RAEn=2m+1 B

n—1

A, Ma=m= T

n—1 n+3 ,
. i

B os={ ;
n%l n
2

m. 1Sl=






